X(F,U) = X5(F) ~%5(V)
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in chromaticity diagram (x,(F,U), y,(F,U)) X5=1.0,Y55=1.0 in chroma diagram (x*,(F,U), y%(F,U)) Xg=1.0,Y56=1.0
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Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9
in chromaticity diagram (X (F,U), yo(F,U)) Xp=1.0,Y,=1.0

,5,and9

Munsell (Renotation)Chroma C = 2 and ValueV =
Xp=1.0,Y5=1.0

in chroma diagram (x*, (F,U), y* (F,U))
%:=0.0,B;=0.8,0,=0,91Y 0-341

Y2(F.U) =y2(F)=y,(V) x;=0.0,8:=0.8 Y2 (FU) =cy [y(F)-(U)] =y y,(F.U)
x=[0,9093-0,0138,+0,3338,)/ Xo = Yo (X—Xo) %=(0,9093-0,0138,+0,3338p,/ Xo = X0 (X=Xo)
[2,3587-0,4269,+0,27540;] Y= YooY [2:3587-0,4268,+0,27540,] Y2 = YooY
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x*5(F,U) = cy X,(F,U)
Xo(F,U) = X5(F)=X,(U) iv =y [p(F)xp(U)]
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